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Geschichte und Kultur:

51- In welcher Dokitrin stand der auBenpolitische Grundsatz, dass BRD keine
diplomatischen Beziehungen zu Staaten aufnahm oder aufrechterhielt. die die DDR
villkerrechilich anerkannten? In --——-——--— -—

1) Hallstein-Doktrin 2) Kiesinger-Doktrin
3) Weinberger-Doktrin 4) Truman-Doktrin
52- Bei welcher der folgenden sozialdemokratischen Parteien handelt es sich um eine
bundesdeutsche Partei? Bei -—-———-—- —-
1) SPE 2) SPS 3)SPD 4) SPO
53-  Worum handelt es sich bei der sogenannten ,,Spiegel-Affire"? Um —----mememeee,

1) die Verdffentlichung der Geheimdokumente iiber die RAF

2) den schwersten Angnff auf die Pressefreiheit in der Geschichte Von BRD

3) eine Welle der Gewalt, die infolge einer rassistischen Polizei-Aktion ausgelast

wurde,

4) die Aufdeckung einer deutschen Wahlaffare durch die Journalisten des ,.Spiegel”
54- In Deutschland liegt das Pass-, Ausweis- und Meldewesen im Zustiindigkeitsbereich

08§ ===mmmnmmcamanms g

1) Ministerums fiir Bildung und Forschung

2) Ministerums fiir Arbeit und Soziales

3) Ministerums des Inneren

4) Auswartigen Amtes
55  Unter welchem Etikett war der deutsche Staatsmann Helmut Schmidt bekannt? Unter

1) .. Welttkonom™ 2y Kanzler der Einheit”
3),.Der eiserne Kanzler* 4) Vater des Wirtschaftswunders™
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56- Wer hat in der Bundesrepublik Deutschland den Posten des Regierungschefs inne?

1) Der Bundesamtsleiter 2) Der Bundesprisident

3} Der Ministerprisident 4) Der Bundeskanzler

57-  Welche Aufgabe hat die Bundesversammlung in Deutschland?
1) Sie beschliebt die Bundesgesetze.
2) Sie wihlt den Prisidenten der Bundesrepublik.
3) Sie iiberwacht die Einhaltung der Gesetze des Landes.
4) Sie wirkt bei manchen Aufgaben des Bundestags mit.
58- Welcher der folgenden Lieraturpreise ist der bedeutendste im deutschen Sprachraum?
1) Deutscher Buchpreis
2) Georg-Biichner-Preis
3) Marie-Luise-Kaschnitz-Preis
4) Literaturpreis der Konrad-Adenauer-Stiftung
59- Wie bezeichneten die Nazis die Kunstwerke und die kulturellen Strimungen, die mit
ihrer Kunstauffassung und ihrem Schinheitsideal nicht iibereinstimmten?
1) . Illegale Kunst™ 2) . Abstrakte Kunst™
3) ..Schwarze Kunst™ 4) , Entartete Kunst”
60- Das staatliche ,Baohaus® (1919-1933) war eine Kunstschule mit Werkstitten fiir
gestaltendes Handwerk, Architektur und bildende Kiinste. Von wem wurde es

gegriindet?
1) Walter Gropius 2) Hannes Meyer
3) Wassily Kandinsky 4) Paul Klee

61- Welche(r) der folgenden deutschen Schauspielerlnnen legte freiwillig die deutsche
Staatsbiirgerschaft ab und nahm eine ausliindische an?
1) Klaus Kinsky 2) Hardy Kriiger
3) Romy Schneider 4) Marlene Dietrich
62- Welches Bundesland ist fliichenmiilig das grifite und welches das beviilkerungsreichste
in der Bundesrepublik?
1) Niedersachsen / Brandenburg 2) Baden Wiirrtemberg / Hessen
3) Bavern / Nordrhein-Westfalen 4) Brandenburg / Rheinland-Pfalz
63- Welcher deutsche Staatsmann bekam 1971 den Friedensnobelpreis? Fiir was?
1) Willy Brandt / fiir seme Bemiihungen um die Entspannung in der Ostpolitik
2) Konrad Adenauer / fiir seine Yorbildfunktion im Kampf gegen Gewalt und
Unterdriickung
3) Helmut Schmidt / fiir seine bedeutsamen Bemiithungen um Demokratie und

Menschenrechte
4) Kurt Georg Kiesinger / fiir seine Anstrengungen. die Apartheid zu beseitigen und zu
beenden
64-  Wann wurde die Deutsche Demokratische Republik gegriindet?
1) Im Jahr 1961 2) Am 3. November 1949
3) Am 23, Mai 1949 4) Am 7. Oktober 1949

65- Bei welchem der lolgenden ,.Skandale® handelte es sich um einen Spionageakt, in dessen
Folge ein Bundeskanzler von seinem Amt zuriicktrat?
1}.,.Offensive 77 2)..Guillaume Affare”
3) ,,[Dne Aflfire Auverbach® 4)  Kniefall von Warschau™
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66~

67-

6H8-

69-

70-

Textverstehen:

Nur wenige Stunden vor der Wahl hatte sich Elon Musk fiir alle gut hérbar noch
einmal festgelegt. Der Griinder und Chef des E-Autobauers war nach Priim
Rheinland-Pfalz gekommen. um die Ubernahme des deutschen Maschinenbauers
Grohmann Engineering zu verkiinden. Dort zum US-Wahlkampf befragt, sagte er:
-Wir glauben nicht, dass Trump die ideale Person wire um Prisident zu werden. wir
glauben nicht, dass das positiv auf die Vereinigten Staaten zuriickfallen wiirde” Tesla
seil ein globales Unternehmen und glaube daher an gute internationale Beziehungen,
nicht an Abschottung. Aber wie auch immer die Wahl ausgehen werde: ,,Wir machen
weiter — egal wie.™ Nun muss der gebiirtige Siidafrikaner Musk weitermachen — mit
Trump. Dass der Klimaschutz, Luftreinhaltung und Elektroautos nicht gerade fiir die
absolute Prioritit hilt, gilt als ausgemacht. Ein E-Auto-Bauer wie Tesla diirfte es nun
schwer haben. Doch auch jene in der Branche, die auf Diesel und Benziner setzen,
machen sich Sorgen. Allen voran die deutschen Autobauer. Denn Trump hat
klargemacht, dass er den lange vernachlissigten Rust Belt, die seit Jahrzehnten im
Niedergang begriffene Industrieregion rund um die GroBen Seen, wieder aufpolieren
will. Auch dort sitzen die Weillen, die sich abgehéngt fithlen und ithm nun zum Sieg
verholfen haben. Trump konnte da selbst in Bundesstaaten punkten, die traditionell
Hochburgen der Demokraten waren.

Woran wiire der Tesla laut Elon Musk iiberhaupt nicht interessiert? An -————---— i

1) den Ergebnissen der US-Prasidentenwahl

2} der Investition in die Produktion der Diesel- Autos

3) einem Abbruch seiner internationalen Kontakte

4) der Zusammenarbeit mit Grohmann Engineering

Wie war den Weillen in der Idustrieregion ,,Rus Belt* vor der Priisidentenschaftswahl

der USA zumuie?

1) Sie fuihlten sich von der Regierung im Stich gelassen.

2) Sie hatten Angst, nie wieder an ihre Arbeitsplatze zuriickkehren zu diirfen.

3) Miserable! S1e wurden stiindig von ithren Vorgesetzten hinters Licht gefiihrt.

4) Schlecht! Sie hitten nie gedacht, dass sie so sehr von der Regierung abhingig
wiirden.

Elon Musk steht Donald Trump ——---—- gegeniiber,

1) sehr wohwaollend 2) deutlich skeptisch

3) eher gleichgiiltig 4) teilweise hlfslos

Aus welchem Grund besuchte Elon Musk die Bundesrepublik Deutschland?

1) Er hat dort im Auftrag der Tesla-Motors einen Vertrag zu kiindigen.

2) Er will die deutschen Autobauer fiir die Ubernahme der Tesla-Motors umstimmen.

3) Er will dort den Kauf eines deutschen Unternchmens feierlich bekannt geben.

4) Er will dort offiziell die Insolvenz des deutschen Maschinenbauers Grohmann
verkimidgen.

Welche Aussage trifft in Bezug aufl den Thnalt des Textes nicht zu?

1) Laut Musk hingt die Zukunft des ., Tesla™ nicht vom Ausgang der US-Wahl ab.

2) Priim ist der Name einer Ortschaft in Rheinland-Pfalz.

3) Trump interessiert sich nicht so sehr fir Elektro-Autos.

4) Elon Musk ist ein siidafrikanischer Unternehmer.
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Grammatik:

71-  Der kroatische Priisident Milanovic sagt deutlich, er werde die Grenze sofort schliefen,
-m——eeeeee—— Merkel das Signal gibt.

1) sobald 2) wiihrend 3) solange 4) seitdem

72- Vor Japan erhebt sich Neuland aus dem Meer. Es hat seine Nachbarinsel ———-— und
wiichst weiter.
1) eingeverleibt 2) geeinverleibt 3) einverleiben 4) einverleibt

73 Solange Weltkarten prinzipiell noch wie im 16. Jahrhundert gezeichnet werden, kinnen
------- (Plural von ,,Globus*) nicht aus der Mode kommen.
1) Globiisse 2) Globen 3) Globi 4) Globe
74- Welche Umschreibung des Satzes ,,Der nene Parteichef tut so, als ob er nie Probleme
mit seinen Parteikollegen haite™ ist richtig?
1) Der neue Parteichef soll nie Probleme mit seinen Parteikollegen gehabt haben.
2) Der neue Parteichef will nie Probleme mit seinen Parteikollegen gehabt haben.
3) Der neue Parteichel muss nie Probleme mit seinen Parteikollegen gehabt haben.
4) Der neue Parteichef kann nie Probleme mit seinen Parteikollegen gehabt haben.

75-  Die Lebenserwartung der Menschen ist —-—---——-—-- der Wohlstand eines Landes ist.
1) umso hoch, je groler 2} umso hoch, je grold
3) umso héher, je grofs 4) umso hoher, je grofBer
Wortschatz:

76- Im Dokumentarfilm "Magnus" wird die Karriere des norwegischen Schachweltmeisters

Carlsen grandios in§ -———-—-——- geseizL
1) Boot 2) Ohr 3) Bild 4) Netz

77-  Geht es um Vertriige mit einem sehr komplexen Inhalt, ist es ---—-—--u-ev -, einen
Rechtsanwalt hinzuziehen,
1} komisch 2) gesund 3) sinnlos 4) ratsam

78- "Sea Shepherd"” heillt die internationale, gemeinniitzige Organisation, die sich seit
Langem fiir den Schutz der marinen Tierwelt -—----—- —
1} einsetzt 2) entscheidet 3) bewirbt 4) rechtfertigt

79- In der Tiirkeui wurden 29 Verlage per ---——-——- -, geschlossen, da sie laut der
Behiirden «die nationale Sicherheit gefiihrdens.
1) Handschlag 2) Vertrag 3) Dekret 4) Zufall

80- Die Ausgabe von Geldscheinen ist traditionell eine Angelegenheit der ---————- .

1) Notenbanken 2) Handelsbanken  3) Kreditbanken 4) Wechselbanken

g bl lj ) ool ¥ (U ol it b g o yU g o lilo! s

La gram:tica

81- - ;Te has enterado —---—-—------- Ia altima novedad?

- No, jqué?

1)en 2) de 3)a 4) por
82- No credis que todo lo que os esta diciendo ——--—---——- verdad.,

1) esté 2) esta j)es 4) sea
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83- Siencuentro una lampara magica, le pediria que me ~——-——-- mi pareja ideal,

1) haya dado 2) diera 3)dé 4) hubiera dado
84- A Rocio no le agradd nada que ti (regresar) --———--—- -— 8 §U cAsa.

1) regresabas 2) regresaste 3) regreses 4) regresaras
85-  Por una parte, actualmente la gente trabaja --—-—----—-—- — lIa gente de la generacion

anterior,

1) menos de 2) menos que 3) menor de 4) menor que
86- Este es el camino ----—----- --— vinimos la ultima vez.

1) donde 2) por ¢l que 3) adonde 4) por ¢l
§7-  Conduciré yo, -———------- prefieras hacerlo ti,

1)sino 2) excepto si 3) excepto 4} salvo que
88-  Silo llego a pensar dos veces, No ===-————mm-xu- i

1} lo habia hecho 2) lo habria hecho

3) lo hare 4) lo haya hecho

Historia de la lengua

89-  :En cual de los paises abajo indicados, el guarani es idioma oficial ¥ de uso extendido?

1) Paraguay 2) Puerto Rico 3) Pera 4) El Salvador
90- El Imperio Espaiiol comienza en el siglo --———-- y desaparece por completo en el siglo -
1) XTIV - XVIII 2) XV - XVII 3) VI-XVII 4) XVI - XIX

91

2Cuil de las siguientes afirmaciones es incorrecia?
1) El espafiol es una lengua latina junto con el francés v el inglés
2) El espaniol es una lengua romance junto con el rumano v el gallego
3) El espaiiol es una lengua indoeuropea junto con el aleman y el persa
4) El espaiiol es una lengua neolatina junto con el itahano y el portugues
92- Las colonias espafiolas en ultramar comienzan a emanciparse del poder espaiiol con las
Guerras de Independencia Hispanoamericanas en el siglo:
1) XVI 2) XVII 3) XV 4) XIX
93-  Se llama Al-Andalus a:
1) Periodo de dominacion drabe en Espaiia v Francia
2) Territorio de la peninsula ibérica bajo dominio musulman en la Edad Media
3) Extension de termitorios ocupados por los arabes en Iberia durante el Imperio
Visigodo
4) Una comunidad auténoma situada al sur de Espainia
94-  Se denomina mudéjares a:
1} Los musulmanes espafioles que fueron obligados a bautizarse
2) Los musulmanes espaiioles a quienes se permitia vivir entre los vencedores
cristianos sin mudar de religion
3) Los cristianos espanoles que convivian con los musulmanes
4) Los cristianos conversos que ocultaban su condicion de musulman:
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Literatura.

95- ;A quién se debe la creacion del género “el esperpento™?
1) Octavio Paz
2) Fedenco Garcia Lorca
3) Ramon del Valle-Inclan
4) Miguel de Cervantes
96- ;Cudles son las escuelas literarias predominante del siglo XIX en Espaiia?
1) Clasicismo. Modernismo. Naturalismo.
2) Naturalismo. Dadaismo. Realismo,
3) Romanticismo. Realismo. Naturalismo.
4} Barroco. Realismo, Naturalismo.
97-  ;Quién es el autor de Ia obra “Los baiios de Argel™?
1) Gustavo Adolfo Bécquer.
2) Miguel de Cervantes.
3) Gongzalo de Berceo.
4) Miguel de Unamuno.
98- ;En qué siglo ¥ por quiénes se cultivo el Mester de clerecia?
1) Siglo X1, por la aristocracia.
2) Sigle XI1, por el pueblo.
3) Siglo X111, por los clérigos.
4) Siglo XIV, por los juglares.
99-  ;Quién es el autor de la obra *Don Juan de Tenorio?. Indique su escuela literaria y su
siglo?
1) Rosa Chacel. Realismo. Siglo XX,
2) José Zorrilla. Romanticismo. Siglo XIX.
3) Emilia Pardo Bazan. Naturalismo. Siglo XVIIL
4) Azorin. Modernismo, Siglo XX,
100- ;De dénde proviene el naturalismo y por quién?
1) Espaiia. Fernan Caballero.
2) Itaha. Giovanm Boceaccio.
3) Francia. Emil Zola.
4) Inglaterra. Charles Darwin.
101- ;Cual es la obra mas importante de Miguel de Unamuno v su género literario?
1) Cartas Marruecas. Epistolario.
2) La Gawviota. Novela.
3) Del sentimiento tragico de la vida. Ensayo.
4) La casa de Bernarda Alba. Obra teatral.
102- Los poetas mis destacados de la generacion 27 son:
1) Antonio Machado. Pedro Salinas. Jorge Guillen.
2) Vicente Alexandre. Miguel Hermmandez. Manuel Machado.
3) Luis de Gongora. Rafael Alberti. Federico Garcia Lorca.
4) Federico Garcia Lorca. Pedro Salinas. Rafael Alberti,
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103-  ;Quién fue galardonado con el Premio Nobel en Espaiia?
1) Juan Ramén Jiménez, Nobel de Literatura por “platero y yo”.
2} Vicente Aleixandre, Nobel de Literatura por “La destruceion o el amor”,
3) Santiago Ramon y Cajal, Nobel de Medicina.
4) Los tres.

Elije la traduccion correcta

104- Podrias haberle dicho que no y punto.
Sl g & g g 4 (Sl O
s Ll g & 9% ol @ Jlaee (V
plod g & (p15%s gl 4 (grlyiea (T
plad 5 &8 9% ol 2 Jenee (F

105- En el caso de notar irregularidades en el contrato, debe acudir a las autoridades
correspondientes.

s Sl Loy b lelza boal sla )8 o= daalie e 2 (B
oS 3y 1y ddogy o ol Lo b sla ) 3 o alad sealive Loyae (T
S dazrl e lbadegs e Dl o 4 Wl Bla | E Gl baali g 2 (Y

S bl o La 3 ctagtons dg by ala 18 o il baalie Soyge 2 (F

106- Viajar en tren por Espaiia fue un suefio hecho realidad para ella.
..Jﬁ.._l I_;"o._'l_:: J,.:_:Ju“ .T.llg,jl- _‘.I:aﬁ- I..In L:_-pl_‘l....ul a _‘l-&-“" {1I
9 gl Dy el Slgs e b Lilol 90 41 jae (¥
2 59 $lp Ao olg) JUad b Lobewl j90 4y phe (T
g ades e 3 af s Jles 3= Ul L L3l 4y Al (T

107- Espaia es uno de los paises donde el bipartidismo ha dado muy mala imagen de la
democracia.

el 23ds s S ool 4 linl og o g0 e Lapl o aF ceila et il S L O)
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| u.h; LJ.-.G .c-.n-,l.ﬁ.n 5’.......21 Ot e -|h._'lI1J..:J L,.‘.i..".'ﬂ.h Jh 39 L -Y-A
1) Con punto de vista a la situacion, la mejor forma de resistirse es actuar.
2) Con punto de vista a la situacion, la mejor forma de resistirse es actualizar.
3) Teniendo en cuenta la situacion, la mejor forma de resistirse es actualizar.
4} Teniendo en cuenta la situacion, la mejor forma de resistirse es actuar,
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1) Iran afirmo que las informaciones recibidas han sido obtemdas de las fuentes fidedignas.
2) Iran confirmd que los informes recibidos han sido recibidos de los recursos fideicomisos.
3) Iran afirmo que las informaciones recibidas habian sido obtenidas de las fuentes
fidedignas.
4) Iran confirmo que los informes recibidos habian sido recibidos de los recursos
fideicomisos.
iy Elao sl Jaal plos el el e -1V
1) Se casaron con régimen de separacion de bienes.
2) Se casaron a base de la ley de separacion de propietarios.
3) Se casaron segun el régimen de separacion de dinero.
4) Se casaron segun la ley de separacion de inmuebles.

PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by chooesing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet,

PASSAGE I:

French territorial acquisitions in Africa were staggering. From about 1830, the French
began to re-create the empire they had lost m 1763 with a campaign to conquer
Algeria. Using piracy as an excuse, the French began their African expansion with an
expedition of troops to Algeria in 1830, leading to a lengthy and violent assault that
resulted in its mid-century integration as three departments of metropolitan France.
France, in claiming lands and peoples previously unclaimed by Europeans, was setting
the pattern for a general European imperialist race that resumed after 1870. The
annexation of Algeria was an inaugural step toward realizing a French dominance of
Africa north of the equator. The next step was the annexation of Tunisia. In 1904 an
agreement with Britain provided English support for rounding out French holdings in
northwest Africa by establishing a protectorate over Morocco, despite (German
opposition.

In equatorial Africa, the French established themselves on the Kongo, and in West
Africa in Senegal. As early as 1885 these colomes were linked across the Sahara to
French North African territories, thus consolidating the vast African territory north of
the equator and west of Egypt and the Sudan. With French acquisition of the island of
Madagascar in 1896, their African territories exceeded those of Britain, though the
colonies most strategic to the French lay along the Mediterranean shore of MNorth
Africa, closest to France itself,

What the British and French left unclaimed in Africa was taken by the Germans,
[talians, Belgians, Portuguese, and Spanish, Taken together, these holdings meant that
only two areas of Africa remained unclaimed by Europeans by the time of the outbreak
of World War I: Liberia, a territory that was partly settled by repatriated African and
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African-American slaves from the Americas and virtually a dependency., however
unacknowledged and ignored, of the United States; and Ethiopia, which retamed
independence only by defeating the 1896 Italian effort at conguest.

111- What can be the best title for the passage?
1) Imperialist Activity
2) European Hegemony over the World
3) European Territorial Claims i Africa
4) Competition between European Countries over Trade in Africa
112- According to the passage, the 1904 agreement between France and Britain --------—---- ;
1) was later welcomed by Germans
2) put an end to German imperialist activity in Morocco
3) resulted in France conquering some territory in northwest Africa
4} was signed long after the establishment of a French protectorate in northwest Africa
113- The word "expedition” in paragraph 1 is closest in meaning o ------—===-=-,
1) attempt 2} distribution 3) group 4) trip
114- Which of the following statements about African Expansion by the French is true
according to the passage?
1) It was triggered by their defeat at an earlier point.
2) It was an attempt against Britain-led piracy in Africa,
3) It was started by the French winning a war in Algeria.
4) It remamed unacknowledged until the annexation of Tunisia.
115- It can be inferred from paragraph 3 that before World War | -———-- -
1) many African slaves were sent to America via Europe
2) Europe had dominated a great share of African territory
3) Liberia and Ethiopia were claimed by the U.S. and Italy
4) the European hegemony over Africa was far from comprehensive

PASSAGE 2:

Considering the plethora of attempts to redefine security since the end of the Cold
War, one might question whether security should be descrnibed as a neglected concept.
Two reasons for doing so are compelling. First, security 15 an important concept,
which has been used to justify suspending civil liberties, making war, and massively
reallocating resources during the last fifty vears. Despite the flurry of recent works, it
seems fair to describe security as a concept that received far less scholarly attention
than it deserved during that period. And second, most recent works on security would
not quahfy as conceptual analysis in its real sense. Security has not received the
serious attention accorded to the concepts of justice, freedom, equality, obligation,
representation, and power,

Buzan suggests five possible explanations for the neglect of security. First is the
difficulty of the concept. As Buzan admits, however, this concept 15 no more difficult
than other concepts. Second is the apparent overlap between the concepts of security
and power, Since these are easily distinguishable concepts, however, one would have
expected such confusion to motivate scholars to clarify the differences. Third is the
lack of interest in security by various critics of Realism. This, however, does not
explain why security specialists themselves neglected the concept. Fourth is that
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security scholars are too busy keeping up with new developments in technology and
policy. This, however, 1s more an indication that such scholars give low prionty to
conceptual issues than an explanation for this lack of interest. And the fifth
explanation considered by Buzan i1s that policy-makers find the unclear nature of
'mational security' advantageous, which does not explain why scholars have neglected
the concept.

116- What does the paragraph preceding the passage mainly discuss?
1) Some underdeveloped concepts
2) The importance of security during wartime
3) Efforts at providing new definitions of security
4) Definitional problems generated by the term security
117- The passage indicates that after the Cold War -———--u--- -
1} the concept of security was revisited
2) very few critics bothered to undertake conceptual analysis of security
3) indicators of the neglect of security as a concept became less apparent
4) the concept of security was addressed only in surveys of security affairs
118- The word "so" in paragraph | refers to -————- 5
1) questioning the value of security studies
2) describing security as a neglected concept
3) neglecting such important concepts as security
4) paving attention to security affairs after the Cold War
119- According to the passage, which of the following in NOT among Buzan's explanations?
1) Advancements in technology distract attention from security.
2) The concept of security is rather ambiguous and elusive.
3) Opponents of Realism consider power to be more important than security.
4) From the perspective of policy making, the usefulness of security lies in its
ambiguity.
120- It can be inferred from the passage that the writer believes the concept of security

1) requires more general defimitions

2) has received more than its fair share of attention

3) deserves the attention some other concepts have attracted

4} has been deliberately neglected in the post Cold-War security studies

PASSAGE 3:

World-system theory 1s a macrosociological perspective that seeks to explain the
dynamics of the "capitalist world economy” as a "total social system”. Its first major
articulation, and classic example of this approach, is associated with Immanuel
Wallerstein, who in 1974 published what is regarded as a seminal paper. The Rise and
Future Demise of the World Capitalist System: Concepts for Comparative Analysis. In
1976 Wallerstein published The Modern World System I: Capitalist Agriculture and
the Origins of the European World-Economy n the Sixteenth Century. This 1s
Wallerstein's landmark contribution to sociological and historical thought and it
triggered numerous reactions, and inspired many others to build on his ideas. Because
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of the main concepts and intellectual building blocks of world-system theory, it has
had a major impact in the developing world.

Where is world-system theory situated in the intellectual world? It falls at the same
time, into the fields of historical sociology and economic history. In addition, because
of its emphasis on development and unequal opportunities across nations, it has been
embraced by development theorists and practitioners. This combination makes the
world-system project both a political and an intellectual endeavor. Wallerstein's
approach is one of praxis, in which theory and practice are closely interrelated, and the
objective of intellectual activity is to create knowledge that uncovers hidden structures
and allows oneself to act upon the world and change it.

World-system research is largelv qualitative, although early on Wallerstein rejected
the distinction between nomothetic and idiographic methodologies to understand the
world. For Wallerstein, there is an objective world which can be quantitatively
understood, but it 15, no matter for how long 1t has existed. a product of history. But to
the most part, his methods are associated with history and with interpretive sociology.
His work is methodologically somewhere in between Marx and Weber, both of whom
were important inspirations for his own work.

121- Which of the following aspects of world-system theory is NOT discussed in the passage?
1) Its originator 2) Its symbolic role
3) Its approach to research 4) Its position in a wider context
122- According to the passage, Wallerstein's 1976 publication --———-—- :
|} contained ideas that were used later
2) provoked a lot of bitter controversy
3) was more comprehensive than his earlier publications
4) was the reason for the warm reception of world-system theory in the world
123- The word "it" in paragraph 2 refers to —-——-- e
1) activity 2) knowledge 3) structure 4) world
124- It can be inferred from the passage that Wallersiein's approach --—-——-- ;
1) lacks a solid theoretical basis
2} 15 solely dependent on man's practical experience
3) describes the kind of relationship that should exist between theorizers and
practitioners
4} 1s dependent on man's intellectual ability to both create and use knowledge
125- The passage indicates that research within the framework of world-system theory

2) mostly uses mixed-methods designs
3) does not always lend itself to quantitative methods of inquiry
4) still follows exactly the same procedure Wallerstemn established
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126- Late 18" ¢. / early 19" ¢. events occurred in the correct order in ———-— —,
1) Gordon Riots in London — Napoleon defeated at Waterloo — Parhamentary Union
of Ireland and Great Britain
2) Napoleon defeated at Waterloo — Parliamentary Union of Ireland and Great Britain
— Gordon Riots in London
3) Gordon Riots in London — Parliamentary Union of Ireland and Great Britain—
Napoleon defeated at Waterloo
4) Napoleon defeated at Waterloo — Gordon Riots in London — Parliamentary Union
of Ireland and Great Britain
127- The Married Women's Property Act of 1870, passed in --—————- - government,
recognized the principle that henceforth a married women was entitled to —-—-——-—- 2
1) William Gladstone / her own property in certain circumstances
2) Benjamin Disraeli / her own as well as part of her husband’s property (that acquired
after their marriage)
3) Willlam Gladstone / her own as well as part of her husband’s property (that
acquired after their marriage)
4) Benjamin Disraeli / her own property in certain circumstances
128- The British Nationality Act of 1948 was the first attempt to defline British citizenship

and in so doing confirmed the legal right of --——--———--— {of) Commonwealth citizens to
reside in the United Kingdom
1) skilled workers 2) over 800 million
3} up to ten percent 4) South Asian people

129- The British Campaign for Nuclear Disarmament (CND) was formed in -----———=-===- in
order to secure the abolition of ——-————- and thereby set an example to other nations,

including the US and the Soviet Union

1) 1958 / nuclear weapons in Europe

2) 1971 / British nuclear weapons

3) 1958 / British nuclear weapons

43 1971 / nuclear weapons in Europe

130- Which of the following about the Anglo-Irish Agreement of 1985 is not correct?

1) The aim of the agreement, according to its British and Inish signatonies stated that was to
promote peace and stability in the North and to reconcile the two traditions in Ireland.

2} It resulted from protracted negotiations between plempotentianies from the Irish side
with the British Prime Minister, and was ultimately signed by Michael Collins as
Irish leader, and Arthur Griffiths and Erskine Childers on the Irish side.

3) The Agreement met fierce Protestant resistance, ncluding massive loyahist
demonstrations in Belfast and the resignation of all Unionist MPs to fight by
elections as a mini-referendum.

4) Seen as a major step along the road to a bipartisan Anglo-Irish approach to the
Ulster conflict it was the outcome of regular discussions during 1984-5.
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131- All the following about the Blitz are correct EXCEPT that——m7——- —

1) the most concentrated raid was on Coventry where 503 tons of 1115?]1 explosive and
30,000 incendiaries destroved the center of the city and a total of 60,000 buildings,
including the cathedral

2) almost all the major ports and industrial centers suffered attack. with especially
concentrated raids on Exeter, Plymouth, Manchester, Liverpool and Sheffield

3} it destroved one-third of the area of the old City of London and caused particularly
extensive damage in the East End and Dockland areas

4) it is the name given to the sustained bombing of British cities and towns in the
Second World War, primarily from early October 1942 to June 1943

132- The British Prime Minister Harold Macmillan, (1894-1987) ceeeeeemceeeee

1) concluded the Nassau Agreement with the United States in 1‘362 which ensured
Britain's future as a nuclear power

2) made the "Wings of Britain' speech in South Africa in February 1960 which showed
his reluctance in accepting the process of decolonization

3) he was associated, in his later vears with advocay of Thatcherite policies of social
policies and privatization, calling for a continuation of “one nation” Toryism

4) his request for British entry to the Common Market was accepted by de Gaulle but
was delayed due to political divisions at home

L Jhe Trewty of Dunkirk was a -—------—-—- Anglo-French agreement 1o Pl'l)\"id{‘, mutual
assistance against possible German aggression—the status of the treaty belongs largely
to the —-————mmem- )

1) 1957 / post-war era of fears concerming the exceptional West German economic
boom of the 19505

2) 1933/ pre-war era of the rise to power of Hitler in Germany and the perceived threat
to both France and Britain

3) 1947 / post-war era and the re-emergence of France as the major European power

4) 1939 / pre-war era of France as a nation at the brink of political and economic

collapse
134- Which of the following about the 1920s and 30s Hunger Marches in Britain is not
correct?

1) The 1932 march carried a million-signature petition protesting against the Means
Test, but was prevented by police baton charges from conducting a mass lobby of
parliament.

2) The best-known hunger march was the “Jarrow Crusade’ of autumn 1936,
undertaken by the town council of the Tyneside unemployment blackspot Jarrow

3) The marches were organized, in the main, by the communist-led National
Unemployed Workers' Movement (NUWM)

4) They took the form of marches on industrial centers outside the City, including
Manchester, Liverpool, New Castle and Glasgow to protest about unemployment
and unemployment relief.
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135-

136-

137-

138-

139-

140-

Which of the following about the British Labour Party is not correct?

1) Labour won the general elections of 1964 and 1966—during the party's period in
office. capital punishment was abolished and the laws relating to divorce and
abortion were liberalized.

2} Labour's first majority government under the post-war Clement Attlee's premiership
disastrously failed to implement its legislative programme.

3) Britain's first ever referendum, on EEC membership, was held in June 1975—
approximately two-thirds of the voters favoured Labour's renegotiated entry terms.

4) During the Second World War the party joined the all-party coalition led by Prime
Minister Winston Churchill.

The following post-1945 events occurred in the correct order in -———--—-——-

1} Decimalised cuwrrency replaces 'pounds, shillings and pence'— Stnki:s paralyse
Britain during the so-called "Winter of Discontent' — Prime Minister Harold Wilson
resigns and is replaced by James Callaghan

2) Strikes paralyse Britain during the so-called "Winter of Discontent' — Decimalised
currency replaces "pounds, shillings and pence’ — Prime Minister Harold Wilson
resigns and 1s replaced by James Callaghan

3) Decimalised currency replaces 'pounds, shillings and pence’— Prime Minister
Harold Wilson resigns and 1s replaced by James Callaghan— Strikes paralyse
Britain during the so-called "Winter of Discontent’

4) Strikes paralyse Britain during the so-called "Winter of Discontent'— Prime
Minister Harold Wilson resigns and is replaced by James Callaghan=>Decimalised
currency replaces 'pounds. shillings and pence’

Which of the following about the British Prime Minister John Major is not correct?

1} He announced the defeat of the Conservative "Back to Basics’ campaign—including
major issues in economy, education and policing—in 1993,

2) Major presided over British participation in the Persian Gulf War and negotiated the
Maastricht Treaty.

3) Major lost the 1997 general election. in one of the largest electoral defeats since the
Great Reform Act of 1832,

4) He was a cabinet minister from 1987, and served Margaret Thatcher in the Treasury
and Foreign Office during her third ministry.

The correct order the following 20th-century British monarchs i -—-----—--———- :

1} Edward VIl — George V— Edward VIIL — George VI

2) George V— George VI — Edward VII — Edward VIII

3) Edward VIl —» Edward VIII - George V — George VI

4) George V— Edward VIl — George VI — Edward V111

The British PM Tony Blair had become leader of the Labour Party in --—-——-—-— after
the death of John Smith, Blair ——-eeeeeee-- the modernisation of the party begun by
Smith. One of the new Labour government's first acts was o —-----—-—- the Bank of
England control of interest rates. At the same time, it —----mmemun- a programme of far-
reaching constitutional reform.

1} 1989/ revised / refuse / halted 2) 1994 / continued / give / started

3) 1989 / continued / give / halted 4) 1994 / revised / refuse / started

‘Date / major event’ do not match in --————----

1) April 1981 / Racial tensions spark riots in E!-rxxmn and other areas

2) December 1986 / Major British national industries are privatised

3) March 1990 / Introduction of new local taxes sparks 'poll tax' riots in London
4) March 1979 / Scotland and Wales bid for devolution

kel g Gl bl § 90 it )] (et JUS 90 ] ibsbidal § Hhud! oui g



auid ) gutbinit JbS 99 )] (Gunniinl Gkl bt § Gl g

Yo dmie 203A ) ) ol Slallae e

gy obj ) dawgy Sbd 9 g0 U g gy obj

A. Pyccrnil a3mik.
— Brifepure npasnabHBIA BAPpHAHT.

141- Hukomy —---——--———-, cTapas JeHMHAHA BeE qenana cama.

1) He noBepHB 2) He nosepana 3) He noBepas 4) He JoBEpHIA
142- Kaxoe n3 npuBeI¢HHBIX HAXe npeatoxennii nofyaurensnoe?

1) IlycTe OH caM 5T0 clenaer.

2) Cepebpucran nopora, Tel 30BEME MEHA Kyna?

3) Y xaxoii e pycckuii He moGHT GHIcTpOi €357

4) HexyccTBO €CTh O/IHO M3 CPENICTB EAMHEHHA moeii.
143- Yiamure cnocob ofpazosanun caosa «<HEEOJIBILOM».

1) cybdurcansHEIH 2) NpHCTABOYHEIH
3) npHcTaBouHO-CY hhUKCANLHEH 4) beccyddurcHii
144- YkamHTe COHOPHBIE 3BYKH,
1) m, M, o, 2)6,i, B, T 36, T1,p 4)n, M, H, p

145- B xakoM mpelIoxeHHH NPHAATOYHYH Y2CTE CIOKHONOAYHHERHOM MPeN/I0KCHHA
HEJIL3A IAMEHATH NMPHYIACTHLIM 0bopoToM?
1) Oren 3anen necHw, kotopas MeHa ocobeHHO Tporana.
2) YHHBEPCHTET, B KOTOPOM OH OyIeT YYHTECA, OIMH M3 cTapeliIuX B CTpaHe.
3) CoH, KoTOpHIH NpHCHIICA el HECKONTBKO OHEH Ha3lald, OKA3AICH MPOPOYECKHM.
4) Mue HymHO OGBUIO BCTPETHTE MOCTEH, KOTOPHIE CNENHANEHO MPHEXATH
nocMorpeTt MockRy.

146- YkaxHTe HEMOCTORHHBIE MPHIHAKH NPHYACTHA B HHAKCCTCLYIOMIEM NPELI0KEeHHN,
«Y BOPOT KOHYH/IACH 0POTa, BHIMOMEHHAN AKETTHIM KHPIHYOM, KOTOPas MHOT0 NHel
BeJa HX K JaBeTHOH menn.»

1) uM. m., ea. 4., &. p. 2) crpanarensHoe, el 9., M. p.

3) npotu. Bp., BHH. 1., e11. 4. 4) HeCOB. BHI, HM. I1., &/1. 4., XK. P.
147- Tloche 3x3aMeH0B B 00 MEKHTHH NOYTH HAKOT0 HE OCTANOCH! BOE ==——=====ss=a=as -, KTO

Ky/ja.

1) pasnexamnce 2) BeIexanH 3) saexanu 4) obnexanu
148- 3avem ona B3RJIA 1718 JOKIA0A TeMY, CBA3AHAYI0 ¢ nodueii? Ona seas nioxo

pasbupaerca —---———-----—-,

1) c oM 2)ato 3) B aTOM 4) atoro
149- OHa COENATA ITO —==-==-=—-=-caeee=JHGBH K JETHM.

lic 2)or 3) o 4) u3
150- B kakom cnoBe Ha MecTe nponmycka numerca HH?

1) koMMccHA co3aa...a 2) wenpouie. . .kl rocTh

3) opraHH3alHo...ad CTPYKTYpa 4) opauHap. . .si# ciyqait

151- Kakoii BappanT cHHOHHMHYEH BbUISIEHHAON YaCTH HIKECISIYOMEro peacKeHnaT
«Oprectp, HCMTOJIHABIIHHN cuamponnio, GbL1 049eHs HIBECTHBIM. »

1) koTOpEIH HCNOMTHUT 2) KOTOPEIH HCTIOMHI
3) koTOpEIi MCNIOTHAET 4) KOTOPBIF HCMIOTHAT
152- Kakoii npeasor ynorpedasercs ¢ apyms nagexamu?
1) mexny 2) no e 4) npu
153- H3 okna nameii ayanropun 66113 BHAHA TOILKO OJHA --———-——-—-—-- YHHBEPCHTETCKOTO
CTaJHOHA .
1) BockMoii 2) BockMas 3) BOCBMEIX 4) BOCEMOTO

G ) il bt § 9 it 3] gt J15 90 5 Glsbldal § Sl ! gty



auid ) gutbinit JbS 99 )] (Gunniinl Gkl bt § Gl g

T 203A ) ) ol Slallae e

154- ———---———-——-cBoliCTBEHHA TpeIeLHAN KPATKOCTE H MPOCTOTA.

1) IMocrosuuamu 2) K nocnosunam  3) s nocnosur, — 4) [Tocaosuuam
155- B wakom BapuaHTe HET MATKOI0 corjiacHoro?

1) yacw 2) MBlllL 3) TemuoTa 4) TpamBait

b. Pycckas ueropus u KYABTYpa.
— Bribepure npasnisLHLIH BapHAHT.

156- Kro asrop muorotomuore Tpyaa «Heropus rocyaapersa Poceniickoron?
1) A A, Qer 2) B.K. Tpeanakorckuii
3) M.B. JlomonocoB 4) H.M. Kapamznin
157- Kak nauunaerca ramu Poceniickoit @enepannn?
1) Pocena — ceAmeHHan Hallla Jepakasa
2) Beragail, npokastheM 3akneiiMEHHBIH
3) Moryuune Kpsiiba pacnipaBHB HaJl HAMH
4) CKkBO3b rpo3bl CHAJIO HAM COJHIE CROBOJIE!
158- Kawkoii pyccknii anreparop 6 nexabpucrom?
1) A.C. ITymkun 2) K.®. Prineen 3) A.C. T'puboenos  4) K.H. Banowkos
159- Kakoe soickasbiBanne o pycckux myseax ssasercs HETIPABHJIBHBIM?
1) OpmuTaxk HaxonuTcs Bosne pekn Hesel.
2) Tpereakoeckas ["anepes Haxomutes B Mockse,
3) Dpmurax — cambii Gonbmoii Myseii Mockse! 1 Beeil Poceun,
4) Tpetsaxonckas ["anepes ocHopana kynuom [Nagmom TpeThIKOBHIM.
160- KTo n3: Hmkec/IeIyHMHX ABIgeTcH Hanbo e NONYIAPHEBIM APAMATYProM cepeaHHEL

XIX Bexa?
1) AL Yexos 2) B.A. XKXykoBckuii
3) A.H. Octposckmii 4) 1.1. dousuimuu
161+ --oeoeeeeeeee e BJIRIIOCH(ACE ) CAMBIM 3HAMHTEALHBIM COOLITHEM, MOBIHABIIAM Ha
kY/AbTYpY Poccnn B nepsoii nososune XIX Bexa.
1) Oreuecrennad Boiina 1812 rona 2) Ilpasnenue Anexcanpa |
3) Boceranne E. Ilyrauesa 4) Okra0pecKan peBoOLNsA

162- K kaxkomy manpy ApeBHepyccKoil JHTEPATYPHI NPHHALTEKHT HIBECTHOE
npon3seaenne Adanacns Huxnrnna?
1) #uTHE 2) crazanue 3) neromnmMch 4) xomaeHue
163- M.H. I'nunxa, M.IL Mycoprekmii, H.A. Pumcknii-Kopeakos fb1in ———-—mmnmnmeeeeme .
|) koMmnoauTopamu  2) cKyABNTYpaMH  3) apXuTeKTopaMu  4) Xy10KHHKaMH
164- Kaxoii pyccknii napt noayuna npoienme Heana I'pyznoro?
1) Mpan I 2) Hean 111 3) Uean IV 4) Hean |
165- Kakan opranmianns GbL1a co3IaHa NOCJe PACHAAA COBETCKOT0 COI3A HEKOTOPBIMH
OLIBIIHMH COBETCKHMHE pectyfamkamu?

1) PCOCP 2) CHI' 3) CCCP 4) PO
166- Kawoii rearp Mockerl 6u11 ocHoran K.C. Cranncaaseknm 1 Ba.H. Hemuposugaem-
Han4enko?
1) Manuiii Tearp 2) bonswoii Teatp
3) XynomecTBeHHRIH TeaTp 4) AnexkcaHJApHHCKHI Teatp
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167- B kakom roay H No HHHUHATHBE KAKOI0 COBETCKOT0 pyKoBoauTens Kpeim bb11 nepenan
u3 coctasa PCOCP e coctas Yrpannckoit CCP?
1) 19 despans 1954 rona no ununmatuse H.C. Xpymiesa
2) 19 nexadps 1981 roaa no nauuuatuee JLH. bpexnesa
3) B okrabpe 1917 rona no nammathee B.H. Jlenuna
4) 8 moe 1945 rona no unuumatuse M.B. Cranuna
168- Kakoil pyccsuii xyaoanuk cosgan kapruny «Bypaakn na Boaren?

1) A. PyGnes 2) L.E. Penunu 3) B.M. Cypuxor  4) .M. [Lnmkun
169- Kto nposoana pedopmet B Pocenn B nauane XVIII sexa?

1) Exatepuna Il 2) Hukonaii [

3) Anexcaunnp I1I 4) [Mérp |
170- Kakoii npazaunnk otmedawT B Pocenn 7 ansapa?

1) Jleun mobean 2) Menb zammurHHka OTeuecTBa

3) PoskaecTBo XpHCTOBO 4) lens Poccun

Hig gl (lj &) dundlyd a8 g &)U g 59l 00

Partie A: Francais général

Trouvez la bonne réponse :

171- Sivous aviez été membre du club, cette note ——--—-—— i votre livret scolaire.
1) était ajoutée 2) aurait été ajoutée
3) pouvait s ajouter 4) a pu €tre ajoute

172- Dans la phrase : « Je croyais que mes parents ne m'aimaient pas mais les traces laissées
par des larmes sur ma lettre prouvent le contraire. », quelle est la nature de la
propaosition subordonnée soulignée ?

1) relative 2) conjonctive

3) adverbiale 4) circonstancielle
173- Je ne me souviens pas -————-- il a réussi son examen.

1) la fagon qu’ 2)qu’

3) comment 4) est-ce qu’

174- Finalement. je n’ai pas acheié ce petit meuble, d’autant que ~————-—--—-- -
1} je n’avais pas vraiment besoin
2)j’en avais vraiment pas besoin
3) je n’avais vraiment pas besoin
4) je n’en avais pas vraiment besoin

175 e il a pu recommencer 4 marcher aprés son accident.
1) Par volonte 2) Etant donné sa volonté
3) A force de volonté 4) Force de sa volonté
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176- Trouvez la phrase correcte.
1) I"ai pris un parapluie de peur qu'il ne pleuve.
2) Je ferme la fenétre pour que je n’aie pas froid.
3) Nous cherchons un appartement pour qu’il soit calme et ensoleille.
4) La visibilité etait mauvaise : 1l roulait lentement par défaut d’un accident.

177- J'ai bien recu ton invitation et -————------ — immédiatement.
1)1y ai repondu 2) ) en ai répondu
3) ) a1 répondu 4) j’en a1 répondue
178- 1l a été appelé par le directeur, --—————- il allait partir.
1) aussitot qu’ 2) alors qu’
3) une fois qu’ 4) juste au moment ot
179- La bibliothécaire rangeait les livres au fur et i mesure -—-—-——-- :
I} qu’on la rendait 2y qu’on les lui rendait
3) qu’ils les rendaient 4) quils rendaient 4 elle
180- Finalement. croire qu'il ———-—---—- — $i le passé -————mmeeen- différent, c'est tenter de
construire une vie sur quelque chose qui n'existe pas.
1) se présentera / sera 2) se présente / est
3) serait présent / avait été 4) soit présent /[ a été
181- Les sismographes enregistrent de 1égéres secousses dans cette région ; -————-------=-
d’aprés les spécialistes, il n’y aurait ---—------ -- risque de tremblement de terre
important.
1) toutefols / aucun 2) néanmoins / aucune
3) par contre / nulle 4) cependant / pour autant de
182- Trouvez la phrase correcte.
1) §71l pourrait, il viendrait. 2) Je viendrai s1 77 a1 le temps.
3) au cas de maladie, il sera absent. 4) Elle viendra si elle aura le temps.
183- Vous trouverez ce livre dans une librairie spécialisée --—----—- —— dans une librairie
générale.
1) plus tot que 2) plus que
3) autant que 4) plutot que
184- Awriez-vous d’autres modéles de robes que --——----—-- 7
1) ceux-la 2) celles-1a
3) celles-ci 4) celui-ci
185- N attendons par Martine ! —--—-——---—- — elle arrivera en retard.
1) Tels que je la connaisse 2) Tel que je le connais
3) Telle que je la connais 4) Tel que je le connaisse

Partie B: Histoire et culture générale francaises

Trouvez la bonne réponse ;

186- Avocat et homme politique, bon orateur, devient président des Cordeliers, minisire de la
Justice en 1792, 1l enire ensuite au Comité de salut public. Soupconné de corruption en
1794, il est condamné par le tribunal révolutionnaire et exécuté le S avril. De quelle
personnalité de la Révolution francaise s agit-il 7
1) Georges lacques Danton 2) Maximilien de Robespierre
3) Marie-Antoinette 4) Jean-Paul Marat
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187- La Renaissance N'EST PAS - -
1) une réaction contre le baroque
2} une révolution esthétique
3) une mutation culturelle
4) le début des Temps modernes
188- En France, le romantisme a cristallisé la révolte contre ——-—--————- et la domination de
1) la Révolution / 1a République
2} la monarchie / I’anstocratie
3) le monde industriel / la bourgeoisie
4) le christianisme / I'Eglise
189- Devenu usuel en Angleterre et en France au début des années 1830, le terme socialisme
désigna d'abord une protestation morale, économique et politigue contre ——---————- i
1) le communisme
2y I'mdividualisme
3} le nationalisme
4) la pensée libérale et ses exces
190- Le 10 juillet 1940, & Vichy, les députés confient ---———-—-- les pleins pouvoirs
constitutionnels. Celui-ci met fin -==---——--—- et instaure I'Etat francais.
1) a4 Léon Blum / au régime de Vichy
2) au général de Gaulle / a la guerre mondiale
3) a Philippe Pétain / a la 111" République
4) 4 Edouard Baladier / a I'armistice
191- Le coup d'Etat du 18 brumaire an VI (9 novembre 1799), organisé par Emmanuel-
Joseph Sieves et executé par Napoléon Bonaparte, marque la fin et
et le début --—————--—-—- :

1) du coup d’Etat / du Consulat / du Directoire

2) du Directoire / du Consulat / de la Révolution frangaise
3) de la Constitution / du Directoire / de I'Empire

4) du Directoire / de la Révolution frangaise / du Consulat

192- La Révolution industrielle est une mutation née en --——--—- === qqui affecte le monde
occidental au —------- ——- siecle.
1) Angleterre / XIX" 2) France / XX°
3) Amérique / XVIIIT® 4) Allemagne / XIX®

193- En France, I’élection preésidentielle détermine la personne qui sera ¢lue président ---------
pour un mandat de -------——--— ans.
1) des républicains / sept 2) de la République / cing
3) de I'Etat / trois 4) du gouvernement / quatre

194- Ou’esi-ce que le réalisme poétigue dans le cinéma francais 7

1) C'est un melange de romantisme et de pessimisme on la fatalité s impose toujours
aux héros.

2) C’est un type de film réalisé en évitant les dépenses des productions de qualité et en
visant |'exploitation commerciale pour attirer le public.

3) C’est un courant qui présente le quotidien en I"état, en adoptant une position
maovenne entre scénario, reéalité et documentaire,

4) C'est un type de film qui veut représenter le fonctionnement réel de la pensée,
faisant appel au réve et au monde spirituel.
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195- Que veut dire 'expression de la « Nouvelle Vague » dans le cinéma francais ?

1) C’est une expression accordée aux romanciers du XX siécle qui explore les pistes
du nouvean monde, porteur d’avenir, qui est en train de naitre sous nos yeux.,

2) C’est une appellation donnée par la critique a un ensemble de cingastes qui rejettent
la notion de héros, la cohérence psychologique des personnages et la vraisemblance.

3) Elle représente des cinéastes qui remettant en question le cinéma traditionnel
s'intéressent surtout a la vie intérieure de I'individu.

4} Elle décrit la nouvelle génération de cinéastes frangais anticonformistes qui a
emergée a la fin des années 50.

196- En France, les associations peavent étre agréées au titre de Ienvironnement par ————-,
1)le ministere de I'Environnement de 1'Energie et de la Mer
E}I’m'ganisatinn Santé Environnement France
3) I'agence de I'environnement et de la maitrise de 1"énergie
4) le mimistére de I’Energie et de I'Eaun

197- En France, le marché intérieur est réalisé autour des « quatre libertés » -—-——-—- -
1) libre circulation des biens, des pensions, des services, des taxes
2) libre circulation des capitaux, des prestations, des services, des cultes
3) libre circulation des biens, des personnes, des services, des capitaux
4) libre circulation des capitaux, des personnes, des offices, des droits

198- Le traité de Versailles est un --=----—=nn z
1) traité de paix signé en 1919 entre I’ Allemagne et les Alliés a I'issue de la Premiére

Guerre mondiale

2 traite signe en 2007 entre les vingt-sept Etats membres de I'Union européenne, qui
transforme 1"architecture mstitutionnelle de 1"Union.

3) traite signé en 1420 marquant la suprématie anglaise au cours de la guerre de Cent
Ans, finalement gagnée par la France.

4) traité qui détaille la lourde contribution de guerre imposée par I Armée impériale
allemande a la France, en représailles de I'action qu’auraient menée des [rancs-
tireurs contre ses soldats investissant Charleroi.

199- En France, le conseil départemental est I'assemblée délibérante d’un département, élue
au suffrage universel dans le cadre ——-----———- . Avant le mars 2015, cette instance
portait le nom de ----——--—-- :

1) des cantons / conseil général

2} des Etats / conseil d’Etats

3) de la commune / conseil communal

4) des zones / conseil régional

200- Depuis la création de la --—---—- -— en 1958, les gaullistes constituent de facto la force
principale -------——--- "

1) IV® République / du front populaire

2) 11I° Républigque / du front national

3) IV République / de la gauche frangaise

4) V° République / de la droite frangaise
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201- Who organized the ‘Dalits’ into the Depressed Classes Association in 19307
1) Tilak 2) Sardar Patel 3) Mahatma Gandli  4) Dr. Ambedkar
202- Which movement marked the beginning of the Civil Disobedience Movement in the
history of India?

1) Salt March 2) Swara) Movement

3) Satyagraha 4) Non-Cooperation
203- Who was the president of the Muslim League in 19307

1) Ambedkar 2) Mahatma Gandli

3) Muhammad Iqbal 4) Jawaharlal Nehru

204- What was the main idea of Non-Cooperation Movement?

1) prevention of violence

2) military power

3) land ownership

4} To persuade people to wear “Khadi’ and give up drinking
205- What does Satyagraha means?

1) freedom 2) Supreme dharma
3) forced recruitment 4) non-cooperation
206- One of the world’s seven wonders that was built in India by ------ ——- for his wife ---——--
is Taj Mahal.
1) Akbar-Hamida Beigum 2) Baber-Raziya Beigum
3) Shah Jahan-Momtaz 4) Jahangir-Narges Beigum
207- Mahatma Gandhi announced that the Shudra caste should be abolished and called this
castes as --——---——-- .
1) Brahmin 2) Harjan 3) Kashama 4} Vishiya
208- Indian social stratification is based on -—-—- :
1) caste system 2) economic system
3) class system 4) educational system
209- The two main statues that are placed in Hindu temples belong to --———-——- .
1) Arjun and Sita 2) Ram and Sita
3) Bhagwan and Ram 4) Lord Krishna and Shiva
210- Mahatma Gandhi used the word --—-——---- which means non-violence to fight the British
Colonialism.
1) Ahimsa 2) Sarvodaya 3) Sanvasi 4) Swaraj

211- The Hindu tradition according to which a bride is burnt on the pyres of her deceased
husbhand is called —----—-- -.

1) Holey 2) Diwali 3) Sati 4) Rangolil
212- In Hindu social system, ==----—--- is prohibited.
1) Diwali 2) Puja 3) Endogamy 4) exogemy

213- The Indian revolutionary figure who advocated armed struggle against British rule, but
later gave up struggle and went to Ashram was ————------ .

1) Tilak 2y Ambedka
3) 51 Aurubindgo Gosh 4) Jawaharlal Nehru
214- India is a ——----—-- society.
1) rigid 2) multicultural 3) uni-cultural 4) uni-lingual
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215-

216-

217-

218-

219-

220-

221-

221-

According to some reformist Hindu thinkers, the attributes of the Hindu Supreme God
are similar to those of ---——--- God

1) Jews and atheists’ 2) Christians and atheists’

3) Muslims and atheists’ 4) Muslims and Christians'

gl 5 ) oy oS0 pal Finyd g g U7

The First 1.8, Secretary of State and Where Was The State Depariment

1) Thomas Jefferson 1790-1793 in Philadelphia

2) John Jay 1790-1792 in New York

3) Edmund Randolph 1789-1791 Boston

4) John Marshall 1789-1792 Washington D.C.

The Republican Party Started in what vear and why

1) 1854 to Combat Kansas Nebraska Act to Extend Slavery into Territories

2) 1834 to Combat Abolition Movement in the North

3) 1845 to Combat Democratic Party in the South

4) 1829 to Combat Andrew Jackson candidacy for President

18 Amendment of the Unites States Constitution was about what issue and was repealled

by which Amendment

1) Producing and Selling of Alcohol is lllegal and was repealed by the 21 Amendment

2) Producing and Selling of Alcohol is Illegal and was repealed by 20 Amendment

3) Prevented Women from participating in the Political Process and repealed by 19
Amendment

4) Prevented Blacks from participating n the Political Process and repealed by the 15
Amendment

The Statute of Liberty was originally intended to represeni-------by its designer-—---

1) A Female Egyptian Peasant by Frederic Agustus Bartholdi

2) A French Female Actor by Alexander Gustav Eiffel

3) A Roman Goddess by Emma Lazarus

4) An American Woman showing light to the world by Edouard de Laboule

NSC- 68 refers to

1) National Security Council report in 1950 to president Truman at the start of Cold
War

2) National Security Council report in 1972 to Nixon about China

3) National Security Council report in 1968 to Johnson about Vietnam War

4) National Security Council report to Carter about Soviet invasion of Afghanistan

NOVUS ORDO SECLORUM means and appears on

1) New Order of Ages on the Great Seal of the United States

2) Favored Our Undertakings on the U.S. Dollar Bills

3) Out of Many One on the U.S. Coins

4) God Has Made Us New Life on US. National Anthem

“The American Gothic® known as the most famous farm couple in America is a

painting by

1) Grant Wood in 1930 lowa

2) Gertude Stein in 1942 Kansas

3) Gordon Parks in 1922 lowa

4) Byron H. McKeeby 1n 1935 Indiana
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223-

224-

225-

226-

227-

228-

229-

Reconstruction refers to the period after

1) The Civil War 1865 to 1877

2) The French and Indian Wars 1756 to 1763

3) World War I 1918 to 1925

4) Mexacan-American War 1848 to 1854

The first African-American to play in baseball ‘s major leagues was

1) Jackie Robinson 1947 in Brooklyn Dodgers

2) Benjamin Banneker 1939 in Chicago Cups

3) Stokeley CarMichaels 1944 in Atlanta Braves

4) Hank Thompson 1949 §t. Louis Browns

The first newspaper published in the Unites States was

1) Public Occurences, Both Foreign and Domestic 1690

2) New England Courant-Boston 1721

3) Pennsylvania Gazette 1728

4) Virgima Gazette 1716

The lyrics of the American National Anthem is attributed 1o a poem by

1) Francis Scott Key when British burned Washington in 1814

2) John Freemont after the Battle of Gettysburg in the Civil War in 1864

3) Horace Greeley after the Treaty of Ghent in 1814 ending British invasion of
Washington

4) William Henry Harrison after Lincoln’s Gettysburg address in 1865

White Man's Burden is a poem by

1} Rudyard Kipphng i 1899 about American colonization of Phihppines

2) Henry Labouchere about British colonialism of Africa in 1904

3) Ernest Crosby about Belgian colomalism of Africa in 1902

4) Hubert Harrison about white peoples colonization of Native tribes in 1870

“Dollar Diplomacy * refers to

1) William Taft (1909-1913) doctrine that the goal of U.S. diplomacy should be the
promotion of American business

2) William MeKinley (1896-1901) doctrine during Spanish American War to advance
U.S. business

3} Theodore Roosevelt (1901-1909) doctrine against Germany in Central America

4) Woodrow Wilson (1913-1917 ) doctrine of pursuing U.S. business interests abroad

The Establishment Clause of the U.S. Constitution refers to

1) First Amendment. Congress shall make no law respecting an Establishment of
religion

2) 13 Amendment: Congress shall not make any laws Establishing slavery in new
territories after Civil War

3) 14 Amendment: Congress shall not make any law Establishing slavery after War of
1812

4) 19 Amendment: Congress shall make no law Establishing discrimimnation against
WOomen
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230- In the Barbary Wars United States Fought
1) 2 Times (1801-1805 and 1815) with dejure Possssessions of Ottoman Emire in
North Africa
2) 2 Times (1801-1802 and 1805) with African Muslim Leaders in Tunis
3) 2 Times (1798 and 1802) with Arabs in Algeirs & Tunis
4) 2 times (1801 and 1804) with Berbers in North Africa

Helj ol ) l) Kby g 0y 5 ol g

B & # X% (Japanese Grammar)

231- Hi-YiALE( ), BEiZLbohTLI-AEL,

NRECAUEA 2) 1£hhiz 3) (£ 1z% 4) ({5 )TE
232- BAS( RSB, B ELET,

1) b5 2) LT 3 4) birsd
233 B EHCLA )T HIEEORVWHE TV,

1) 2k 2) 1t 3) 4) — %
234- Rl HWERENBFTILE U0 T, fEohuweR-TLEVET,

1) == 2) = (Il 3) 4%t 4) »
235- LALEETE( A BITHLELE,

)R> 2) B 3) RTuwz 4) L&
236- ZOEIAEATVE( ), ACDEREBETIETTL,

1) .k 9) LT 3) ¥'I4h 4) it12
237- WE( IERLS, MR-AYREMRIBEGWERWETL,

1) £ (=1 9) £ 3) (& T\ 4) %t =1
238- Bid( ) MEDE-LREREIENBIEE A,

1) LTk 2) Ly #(z 3) (24T 4) LYz

3 % ¥ ¥ (Vocabulary and Kanji characters)
239- ZOMERIIAICNEY, (B )X,

1) ot 2 %2 3) ¥=11h 4) 5
240- HLEHHE

1) £ e (BLEY LB, ELVWEZIL2H#BTT,

9) Iz TELZEN BRI, Vo TEBLEI TR,

3) HLEAEE, (HLEFNETIOT, LBLBRVWGWELET,

4) Oz &b EH AN, b (BLead-T)ATH A,
241- ('FE)DHEL 110 #ITR B30,

1) 24559 2) XA 5w 3) 1A 5w 4) PAEL
242- ZORBYIWSE(RE)T, B-T0ET,

1) Uadfzu 2) Lz 3} Leitzws 4) Lrirw
243 OB ) BAE AV,

1) ## 2) %3 3) feiF 4) T
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#MMME (Reading & Comprehension)

S REOPTLARBOEVARTT, 44, ZOLITKRIZL-TOEOTLLI.
HEDA—I T, VWEFCAREIBACMBTSH), BV ELICEROBRELELS
MTOETH, BERZIT BT BERSHBICRRL TR IBVRERERORT
HEZEHRL T -TET, B BAZEAHTHEV T LKL, BRERBLTIEST
XLOTT, EOIYERILT, EOLICENLHATOEFBIIYOLIIBE 20 TVEDNE

gHThI, AROFERCRANSRLTIET,

LH AL ZIT 15 B3V em)iELy, # RIS BIBhaRE, REVIVASRERY,
FAALE— G T RSSO TOELAY, Z2UZ9- 11 ORETFHSRYELS,
ZDk, TAVIGASIL T IH= AT 2B W L, T LLIN 8 WHAT T 7B,
Fofo, TEEHEBCKBETT,

BE@TE 2008 FOTANAN) =2 T3 —AOMELICLAER TELVERITEA
PERITWET,

BATEATLORER, BFCEHFUCL AL 20 FrobnsKRIZE-TWET,
EEIIFH R RS, BRICUTSREZACECRELY. BHLRELIOR
WaifmiElt, ZREIEHEWMHE TR AOTIR VW TLE . B #E O R
HArii g gr-otacnidmitcithld )T 08 2o RELH ORIV T RIZS
PR E b ARLARVARY % I

244- EIL, BERAOBEROF RIZANHEE T TSN,
1) BAOMMradL §508R1,
2) HHEAEb-RORESVEL,
3) ST MEROBRCREEAOREOE R,
4) — BT EBRLIERTE,
245- EE AT BB SWTRET WEWIEIAFAR,
1) BRI FTEASTHBETHL,
9) TAA® 9-11 DFoFHstdeisik, # RICE LW, SREERIMLL.
3) BEOABRBERVTIESZ, BETE LT TR,
4) aEOFEIIThThoOte T ERAVHD,
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B #& X {L - B % (Japanese Culture and History)

B A8 fal- AZr EO AR, 15 EA (B S IH MRV 2R, (246)12E -1
(94T)IF(248)~NEFE T, FRTORBLE(, BHENLA R SF(Z5MINEE
(1, (240)nE LT, L EEEZBAL, (2600 R ELE,

246- 1) 1941 # 2) 1925 # 3) 1945 ¥ 4) 1939 ¥
247- 1) &A% 2) B 3) e 4) KK

248- 1) #£% 2) itie 3) 4) g

249- 1) RE4§| 2) LEEEH 3) SEEREE 4 RHET I
250 1) Eig 2) FilE 3) i 4) i

BARIH(251)DATEF-BT, @F %, Ah—v7#%, (252), (253) LY ICHAEh, B F
rOBROENTETHE, (254)d, EHEridn, BROIFO—DA T RFL
TG, (255)MAB R E—NHF T, H{roBEHSFRALTHE,

251- 1) 1#83F% 2) 114§ 3) 14&2700% 4) 11% 3500 7
252- 1) KEH# 2} KFH¥ 3) ®/iE 4) P MA
253- 1) H#Aig 2) 3) ik 4) Fif

254- 1) RFEH 2) Sakak 3) B 4) B fuH
255- 1) #ifh 2) ##EH 3 ZEHEREH 4) AL

1894 H45 1895 E M TOBEBRSICHBALAZES -, BREZASERIRER
L. BUE St BEINL ., FEOBEILLY, (256)~OMUiBEof, 2ORIRIEX
FIPRBL. LT MBER YIRS EHINBLIN L, E, ZORM, F-0/5TD
MR ERL, BRTH2ST)~r X ELFMIERLE LL, BRIZBVWTIHe8 Y
PEERVE, BEOABLHEU25B) PN EDIMEL T\ =14,

ﬂi&#'{{[:)\”\ fﬂﬁﬂ}#‘ﬁ%iiﬁf%ﬁ{ K#E%ﬂ}ﬁﬂéi[-’-‘ X*ﬂfﬁﬁﬁ}ﬁ"ﬁbi‘?,

256- 1) REZH 2) 4 % P 3) BRI 4) REEZH
257- 1) & r8 2) HeEH 3) BREH 4 FREIH
258- 1) &/ 2) #AH 3) #& B 4) W%
259- 1) #EZHA 9) e EH

3) BEGE#® 4) REFEI5—
260- 1) —#2ik 2) A&t 3) B 4) &t
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